
SAP ABAP table KALO {Costing Run: Costing Objects (KVMK)}

KALO

MANDT [CLNT (3)]

KALAID [CHAR (8)]

KALADAT [DATS (8)]

TVERS [NUMC (2)]

DISST [CHAR (3)]

KALVZAE [INT4 (10)]

WERKS [CHAR (4)]

MATNR [CHAR (18)]

STLAN [CHAR (1)]

PLNTY [CHAR (1)]

MEINS [UNIT (3)]

DISPO [CHAR (3)]

EKGRP [CHAR (3)]

LABOR [CHAR (3)]

VAGRP [CHAR (3)]

SOBSL [CHAR (2)]

TYPE [CHAR (18)]

PR_MEINS [UNIT (3)]

PR_VERID [CHAR (4)]

MTART [CHAR (4)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 KALO-MATNR = MARA-MATNR 

0..N

{0,1}

 KALO-TYPE = MARA-MATNR 0..N

0..N

MKAL

MANDT [CLNT (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

VERID [CHAR (4)]

 KALO-PR_VERID = MKAL-VERID 
0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 KALO-WERKS = T001W-WERKS 
0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 KALO-MEINS = T006-MSEHI 
0..N

{0,1}
 KALO-PR_MEINS = T006-MSEHI 0..N

0..N

T024

MANDT [CLNT (3)]

EKGRP [CHAR (3)]
 KALO-EKGRP = T024-EKGRP 

0..N

{0,1}

T024A

MANDT [CLNT (3)]

WERKS [CHAR (4)]

FEVOR [CHAR (3)]

 KALO-VAGRP = T024A-FEVOR 

0..N

{0,1}

T024D

MANDT [CLNT (3)]

WERKS [CHAR (4)]

DISPO [CHAR (3)]

 KALO-DISPO = T024D-DISPO 

0..N

{0,1}

T024L

MANDT [CLNT (3)]

LABOR [CHAR (3)]

 KALO-LABOR = T024L-LABOR 

0..N

{0,1}

T134

MANDT [CLNT (3)]

MTART [CHAR (4)]

 KALO-MTART = T134-MTART 

0..N

0..N

T416

MANDT [CLNT (3)]

STLAN [CHAR (1)]

 KALO-STLAN = T416-STLAN 

0..N

{0,1}

T460A

MANDT [CLNT (3)]

WERKS [CHAR (4)]

SOBSL [CHAR (2)]

 KALO-SOBSL = T460A-SOBSL 

0..N

{0,1}

TCA01

MANDT [CLNT (3)]

PLNTY [CHAR (1)]

 KALO-PLNTY = TCA01-PLNTY 

0..N

{0,1}


